

You are asked to prove this result for a 3 by 3 determinant using row 2 in Problem 63.

EXAMPLE 8**Demonstrating Theorem (14)**

$$\begin{vmatrix} 1 & 2 \\ 4 & 6 \end{vmatrix} = 6 - 8 = -2$$

$$\begin{vmatrix} k & 2k \\ 4 & 6 \end{vmatrix} = 6k - 8k = -2k = k(-2) = k \begin{vmatrix} 1 & 2 \\ 4 & 6 \end{vmatrix}$$

THEOREM

If the entries of any row (or any column) of a determinant are multiplied by a nonzero number k and the result is added to the corresponding entries of another row (or column), the value of the determinant remains unchanged.

(15)

In Problem 65, you are asked to prove this result for a 3 by 3 determinant using rows 1 and 2.

EXAMPLE 9**Demonstrating Theorem (15)**

$$\begin{vmatrix} 3 & 4 \\ 5 & 2 \end{vmatrix} = -14 \quad \begin{vmatrix} 3 & 4 \\ 5 & 2 \end{vmatrix} \rightarrow \begin{vmatrix} -7 & 0 \\ 5 & 2 \end{vmatrix} = -14$$

↑
Multiply row 2 by -2 and add to row 1.

12.3 Assess Your Understanding**Concepts and Vocabulary**

1. Cramer's Rule uses _____ to solve a system of linear equations.

2. $D = \begin{vmatrix} a & b \\ c & d \end{vmatrix} = \underline{\hspace{2cm}}$

3. **True or False** A 3 by 3 determinant can never equal 0.

4. **True or False** The value of a determinant remains unchanged if any two rows or any two columns are interchanged.

Skill Building

In Problems 5–14, find the value of each determinant.

5. $\begin{vmatrix} 3 & 1 \\ 4 & 2 \end{vmatrix}$

6. $\begin{vmatrix} 6 & 1 \\ 5 & 2 \end{vmatrix}$

7. $\begin{vmatrix} 6 & 4 \\ -1 & 3 \end{vmatrix}$

8. $\begin{vmatrix} 8 & -3 \\ 4 & 2 \end{vmatrix}$

9. $\begin{vmatrix} -3 & -1 \\ 4 & 2 \end{vmatrix}$

10. $\begin{vmatrix} -4 & 2 \\ -5 & 3 \end{vmatrix}$

11. $\begin{vmatrix} 3 & 4 & 2 \\ 1 & -1 & 5 \\ 1 & 2 & -2 \end{vmatrix}$

12. $\begin{vmatrix} 1 & 3 & -2 \\ 6 & 1 & -5 \\ 8 & 2 & 3 \end{vmatrix}$

13. $\begin{vmatrix} 4 & -1 & 2 \\ 6 & -1 & 0 \\ 1 & -3 & 4 \end{vmatrix}$

14. $\begin{vmatrix} 3 & -9 & 4 \\ 1 & 4 & 0 \\ 8 & -3 & 1 \end{vmatrix}$

In Problems 15–42, solve each system of equations using Cramer's Rule if it is applicable. If Cramer's Rule is not applicable, say so.

15. $\begin{cases} x + y = 8 \\ x - y = 4 \end{cases}$

16. $\begin{cases} x + 2y = 5 \\ x - y = 3 \end{cases}$

17. $\begin{cases} 5x - y = 13 \\ 2x + 3y = 12 \end{cases}$

18. $\begin{cases} x + 3y = 5 \\ 2x - 3y = -8 \end{cases}$

19. $\begin{cases} 3x = 24 \\ x + 2y = 0 \end{cases}$

20. $\begin{cases} 4x + 5y = -3 \\ -2y = -4 \end{cases}$

21. $\begin{cases} 3x - 6y = 24 \\ 5x + 4y = 12 \end{cases}$

22. $\begin{cases} 2x + 4y = 16 \\ 3x - 5y = -9 \end{cases}$

$$23. \begin{cases} 3x - 2y = 4 \\ 6x - 4y = 0 \end{cases} \quad 24. \begin{cases} -x + 2y = 5 \\ 4x - 8y = 6 \end{cases} \quad 25. \begin{cases} 2x - 4y = -2 \\ 3x + 2y = 3 \end{cases} \quad 26. \begin{cases} 3x + 3y = 3 \\ 4x + 2y = \frac{8}{3} \end{cases}$$

$$27. \begin{cases} 2x - 3y = -1 \\ 10x + 10y = 5 \end{cases} \quad 28. \begin{cases} 3x - 2y = 0 \\ 5x + 10y = 4 \end{cases} \quad 29. \begin{cases} 2x + 3y = 6 \\ x - y = \frac{1}{2} \end{cases} \quad 30. \begin{cases} \frac{1}{2}x + y = -2 \\ x - 2y = 8 \end{cases}$$

$$31. \begin{cases} 3x - 5y = 3 \\ 15x + 5y = 21 \end{cases} \quad 32. \begin{cases} 2x - y = -1 \\ x + \frac{1}{2}y = \frac{3}{2} \end{cases} \quad 33. \begin{cases} x + y - z = 6 \\ 3x - 2y + z = -5 \\ x + 3y - 2z = 14 \end{cases} \quad 34. \begin{cases} x - y + z = -4 \\ 2x - 3y + 4z = -15 \\ 5x + y - 2z = 12 \end{cases}$$

$$35. \begin{cases} x + 2y - z = -3 \\ 2x - 4y + z = -7 \\ -2x + 2y - 3z = 4 \end{cases} \quad 36. \begin{cases} x + 4y - 3z = -8 \\ 3x - y + 3z = 12 \\ x + y + 6z = 1 \end{cases} \quad 37. \begin{cases} x - 2y + 3z = 1 \\ 3x + y - 2z = 0 \\ 2x - 4y + 6z = 2 \end{cases} \quad 38. \begin{cases} x - y + 2z = 5 \\ 3x + 2y = 4 \\ -2x + 2y - 4z = -10 \end{cases}$$

$$39. \begin{cases} x + 2y - z = 0 \\ 2x - 4y + z = 0 \\ -2x + 2y - 3z = 0 \end{cases} \quad 40. \begin{cases} x + 4y - 3z = 0 \\ 3x - y + 3z = 0 \\ x + y + 6z = 0 \end{cases} \quad 41. \begin{cases} x - 2y + 3z = 0 \\ 3x + y - 2z = 0 \\ 2x - 4y + 6z = 0 \end{cases} \quad 42. \begin{cases} x - y + 2z = 0 \\ 3x + 2y = 0 \\ -2x + 2y - 4z = 0 \end{cases}$$

In Problems 43–48, solve for x .

$$43. \begin{vmatrix} x & x \\ 4 & 3 \end{vmatrix} = 5 \quad 44. \begin{vmatrix} x & 1 \\ 3 & x \end{vmatrix} = -2 \quad 45. \begin{vmatrix} x & 1 & 1 \\ 4 & 3 & 2 \\ -1 & 2 & 5 \end{vmatrix} = 2$$

$$46. \begin{vmatrix} 3 & 2 & 4 \\ 1 & x & 5 \\ 0 & 1 & -2 \end{vmatrix} = 0 \quad 47. \begin{vmatrix} x & 2 & 3 \\ 1 & x & 0 \\ 6 & 1 & -2 \end{vmatrix} = 7 \quad 48. \begin{vmatrix} x & 1 & 2 \\ 1 & x & 3 \\ 0 & 1 & 2 \end{vmatrix} = -4x$$

In Problems 49–56, use properties of determinants to find the value of each determinant if it is known that

$$\begin{vmatrix} x & y & z \\ u & v & w \\ 1 & 2 & 3 \end{vmatrix} = 4$$

$$49. \begin{vmatrix} 1 & 2 & 3 \\ u & v & w \\ x & y & z \end{vmatrix} \quad 50. \begin{vmatrix} x & y & z \\ u & v & w \\ 2 & 4 & 6 \end{vmatrix} \quad 51. \begin{vmatrix} x & y & z \\ -3 & -6 & -9 \\ u & v & w \end{vmatrix} \quad 52. \begin{vmatrix} 1 & 2 & 3 \\ x - u & y - v & z - w \\ u & v & w \end{vmatrix}$$

$$53. \begin{vmatrix} 1 & 2 & 3 \\ x - 3 & y - 6 & z - 9 \\ 2u & 2v & 2w \end{vmatrix} \quad 54. \begin{vmatrix} x & y & z - x \\ u & v & w - u \\ 1 & 2 & 2 \end{vmatrix} \quad 55. \begin{vmatrix} 1 & 2 & 3 \\ 2x & 2y & 2z \\ u - 1 & v - 2 & w - 3 \end{vmatrix} \quad 56. \begin{vmatrix} x + 3 & y + 6 & z + 9 \\ 3u - 1 & 3v - 2 & 3w - 3 \\ 1 & 2 & 3 \end{vmatrix}$$

Applications and Extensions

- 57. Geometry: Equation of a Line** An equation of the line containing the two points (x_1, y_1) and (x_2, y_2) may be expressed as the determinant

$$\begin{vmatrix} x & y & 1 \\ x_1 & y_1 & 1 \\ x_2 & y_2 & 1 \end{vmatrix} = 0$$

Prove this result by expanding the determinant and comparing the result to the two-point form of the equation of a line.

- 58. Geometry: Collinear Points** Using the result obtained in Problem 57, show that three distinct points (x_1, y_1) , (x_2, y_2) , and (x_3, y_3) are collinear (lie on the same line) if and only if

$$\begin{vmatrix} x_1 & y_1 & 1 \\ x_2 & y_2 & 1 \\ x_3 & y_3 & 1 \end{vmatrix} = 0$$

- 59. Geometry: Area of a Triangle** A triangle has vertices (x_1, y_1) , (x_2, y_2) , and (x_3, y_3) . Show that the area of the triangle is given by the absolute value of D , where

$$D = \frac{1}{2} \begin{vmatrix} x_1 & x_2 & x_3 \\ y_1 & y_2 & y_3 \\ 1 & 1 & 1 \end{vmatrix}. \text{ Use this formula to find the area of a}$$

triangle with vertices $(2, 3)$, $(5, 2)$, and $(6, 5)$.

- 60.** Show that $\begin{vmatrix} x^2 & x & 1 \\ y^2 & y & 1 \\ z^2 & z & 1 \end{vmatrix} = (y - z)(x - y)(x - z)$.
- 61.** Complete the proof of Cramer's Rule for two equations containing two variables.
[Hint: In system (5), page 867, if $a = 0$, then $b \neq 0$ and $c \neq 0$, since $D = -bc \neq 0$. Now show that equation (6) provides a

85. (a)

Amount Invested At		
7%	9%	11%
0	10,000	10,000
1000	8000	11,000
2000	6000	12,000
3000	4000	13,000
4000	2000	14,000
5000	0	15,000

(b)

Amount Invested At		
7%	9%	11%
12,500	12,500	0
14,500	8500	2000
16,500	4500	4000
18,750	0	6250

(c) All the money invested at 7% provides \$2100, more than what is required.

87.

First Liquid	Second Liquid	Third Liquid
50 mg	75 mg	0 mg
36 mg	76 mg	8 mg
22 mg	77 mg	16 mg
8 mg	78 mg	24 mg

12.3 Assess Your Understanding (page 873)

1. determinants 2. $ad - bc$ 3. F 4. F 5. 2 7. 22 9. -2 11. 10 13. -26 15. $x = 6, y = 2; (6, 2)$ 17. $x = 3, y = 2; (3, 2)$
 19. $x = 8, y = -4; (8, -4)$ 21. $x = 4, y = -2; (4, -2)$ 23. Not applicable 25. $x = \frac{1}{2}, y = \frac{3}{4}; (\frac{1}{2}, \frac{3}{4})$ 27. $x = \frac{1}{10}, y = \frac{2}{5}; (\frac{1}{10}, \frac{2}{5})$
 29. $x = \frac{3}{2}, y = 1; (\frac{3}{2}, 1)$ 31. $x = \frac{4}{3}, y = \frac{1}{5}; (\frac{4}{3}, \frac{1}{5})$ 33. $x = 1, y = 3, z = -2; (1, 3, -2)$ 35. $x = -3, y = \frac{1}{2}, z = 1; (-3, \frac{1}{2}, 1)$
 37. Not applicable 39. $x = 0, y = 0, z = 0; (0, 0, 0)$ 41. Not applicable 43. -5 45. $\frac{13}{11}$ 47. 0 or -9 49. -4 51. 12 53. 8 55. 8

57. $(y_1 - y_2)x - (x_1 - x_2)y + (x_1y_2 - x_2y_1) = 0$

$$(y_1 - y_2)x + (x_2 - x_1)y = x_2y_1 - x_1y_2$$

$$(x_2 - x_1)y - (x_2 - x_1)y_1 = (y_2 - y_1)x + x_2y_1 - x_1y_2 - (x_2 - x_1)y_1$$

$$(x_2 - x_1)(y - y_1) = (y_2 - y_1)x - (y_2 - y_1)x_1$$

$$y - y_1 = \frac{y_2 - y_1}{x_2 - x_1}(x - x_1)$$

59. The triangle has an area of 5 square units.

61. If $a = 0$, we have

$$by = s$$

$$cx + dy = t$$

$$\text{Thus, } y = \frac{s}{b} \text{ and } x = \frac{t - dy}{c} = \frac{tb - ds}{bc}$$

Using Cramer's Rule, we get

$$x = \frac{sd - tb}{-bc} = \frac{tb - sd}{bc}$$

$$y = \frac{-sc}{-bc} = \frac{s}{b}$$

If $b = 0$, we have

$$ax = s$$

$$cx + dy = t$$

Since $D = ad \neq 0$, then $a \neq 0$ and $d \neq 0$.

Thus, $x = \frac{s}{a}$ and

$$y = \frac{t - cx}{d} = \frac{ta - cs}{ad}$$

Using Cramer's Rule, we get

$$x = \frac{sd}{ad} = \frac{s}{a}$$

$$y = \frac{ta - cs}{ad}$$

If $c = 0$, we have

$$ax + by = s$$

$$dy = t$$

Since $D = ad \neq 0$, then $a \neq 0$ and $d \neq 0$.

$$\text{Thus, } y = \frac{t}{d} \text{ and } x = \frac{s - by}{a} = \frac{sd - bt}{ad}$$

Using Cramer's Rule, we get

$$x = \frac{sd - bt}{ad}$$

$$y = \frac{at}{ad} = \frac{t}{d}$$

If $d = 0$, we have

$$ax + by = s$$

$$cx = t$$

Since $D = -bc \neq 0$, then $b \neq 0$ and $c \neq 0$.

$$\text{Thus, } x = \frac{t}{c} \text{ and } y = \frac{s - ax}{b} = \frac{sc - at}{bc}$$

Using Cramer's Rule, we get

$$x = \frac{-tb}{-bc} = \frac{t}{c}$$

$$y = \frac{at - sc}{-bc} = \frac{sc - at}{bc}$$

63.
$$\begin{vmatrix} a_{11} & a_{12} & a_{13} \\ ka_{21} & ka_{22} & ka_{23} \\ a_{31} & a_{32} & a_{33} \end{vmatrix} = -ka_{21}(a_{12}a_{33} - a_{32}a_{13}) + ka_{22}(a_{11}a_{33} - a_{31}a_{13}) - ka_{23}(a_{11}a_{32} - a_{31}a_{12})$$

$$= k[-a_{21}(a_{12}a_{33} - a_{32}a_{13}) + a_{22}(a_{11}a_{33} - a_{31}a_{13}) - a_{23}(a_{11}a_{32} - a_{31}a_{12})] = k \begin{vmatrix} a_{11} & a_{12} & a_{13} \\ a_{21} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{vmatrix}$$